FAB—HvT FA—/N—30H95RX 9H268 (X)

[ 34 LRTDa2—)L ] [Hi5F—L]
20:00~ SATRR =18FC
20:15~ REESE UP de UP UP
20:30~ HERR EWE
a—k Bl *EEH—F Fo2EH|
F1E 20:30 =4%g8FC 4 vs 0 UPdeUP UP| #Hi&
HoRE | 2050 =#8FC 3 vs 1 i  [updeur uP
H3RES | 21:10 |UPdeUP UP { wvs 1 £his =1g8FC
Ba—k
F4KE 21:30 =%g8FC 2 vs 2 UPdeUP UP| #£Bi&
E5HAA | 2150 =f8FC 3 vs 2 s  [updeur P
64 | 2210 |UPdeUP UP { vs 3 £his =1g8FC
=f8FC |updeur UP| #EHBR [ 3= Be km | BERRE| OIER
4 - 03 - 1
=#gFC 10 12 5 7 1
2 - 213 - 2
0 - 4 1 - 1
UP de UP UP 2 4 10 -6 3
2 - 2 1 - 3
1T - 31 -1
EH= 4 7 8 -1 2
2 - 3|3 -1




